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QUESTION 1

The HUAWEI OceanStor Toolkit VI00R001 is used for preventive maintenance. The preventive maintenance wizard
does not include which of the following?

A. Select Devices

B. Select Check Items
C. Set Check Policy

D. Export Check Policy

Correct Answer: D

QUESTION 2

Users of object storage service (compatible with OpenStack APIs) are managed and authenticated by the Keystone
server. Registering, creating, and deleting an account must also be performed on the Keystone server.

A. True
B. False

Correct Answer: B

QUESTION 3

Which of the following does not demonstrate the characteristics of big data?

A. Analysis of the popularity of China railway lines during the Spring Festival travel rush in
B. Analysis and forecast of global influenza with the use of search engines

C. Analysis of final exam scores of a university student

D. Data recording and analysis of a Chinese moon landing project

Correct Answer: C

QUESTION 4

Huawei OceanStor 9000 uses the DFS to consolidate disk resources of all nodes, providing a unified namespace.
A. True

B. False

Correct Answer: A
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QUESTION 5

The OceanStor 9000 employs general-purpose x86 hardware to set up the scale-out NAS architecture. Relying on IB,
10GE, and PCle networking, nodes deliver high concurrency and outstanding performance. Compared with the other
two networks, the PCle network has better scalability and is easier to manage.

A. True

B. False

Correct Answer: B
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